T = = /:\ vier Briiche, Dezimalstellen, Reihenfolge der
4:% ﬂ%ﬂ Operationen
Name: Datum: Ergebnis:
1 3 I 1
4,3 —=+3x == - —=—+3x23=
2 2 4 2
3 1 3 1 1
——15x-+3-3x-= 4,6 — = x2— ==
4 5 5 ’ 3 3
4,7+5,8%5+3,6= 3_Z.s4lo
4 5 5
5,4+l><3+10><1+2= %+§X4+l=
2 3 3 2 4
1 1 1 2
-+ -X3+6%x -+2= 5+15%x5,4+5+4x% ==
3 4 2 ’ 3
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m = = /:\ vier Briiche, Dezimalstellen, Reihenfolge der
4;% Jl:%:ﬂ Operationen
Name: Datum: Ergebnis:
1 3 83 3 1 1 133 13
43— -+ —=— =8— - — =+ 2,3=—=6—
TR IR TR 3 3 3BTy oy
3 1 3 41 1 1 1 18 3
-—1 - +3—- - =(C=)=(2— 46— =x2—=-=—=3—
g BrgEITIxg =g =) R R R
373 3 3 2 1 21 1
4,7 + +3.6=_—_=37_ I x5+ -=(-2)=(-1—
TH3,8X5%3,6= 55 = 375 3 3 570 = Cly)
1 | 257 17 2 3 1 &3 11
504+ =%x3+10%x =+2=—=8— —t+=x4+-=—=06—
’ 2 3 30 30 3 2 4 12 12
I 1 1 31 7 2 358 13
-+ =X3+6X=3+2=—=2— 5+15x5,4+54+4x == — =23—
3 4 2 12 12 ’ 3 1 15
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